Meta-analysis 1:

Statins versus placebo

1. LDL-C
Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.242 (>0.05)
2. TC
Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.215 (>0.05)



Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.496 (>0.05)

Funnel plot with pseudo 95% confidence limits
=
SN
& ™
Is "
ks b
— & n
N E b
Fa A
« n
& n
x b
& ™
=g I *
[l . i
x b
UE& fﬂ' ‘H.\-
i i n
o £ \
&
Ea
E
&
=+ | * ff *
&
&
“ *
l-..l_.! -
T
-2

SMD

Egger's test t = 0.691 (>0.05)



5. total testosterone

Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.135 (>0.05)

Funnel plot with pseudo 95% confidence limits
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2
Egger's test t = 0.480 (>0.05)



7. F-INS

Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.704 (>0.05)

Meta-analysis 2: Statin + metformin versus metformin

Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.921 (>0.05)



2.

TC
Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.975 (>0.05)
TG
Funnel plot with pseudo 95% confidence limits
=
AN
o
¥, i
i, 4
— £ Y
/ '
S |
i |
i %
[ ; N
a If * lﬁ\-.
== i '
w-.&:- f.-" "."'
R ‘ y
. Y L
s ‘\.
i i
;. '
= ¥ N
i, 4
£ N
i ‘\.
S |
ur i g
. .
3 - - 0
SMD

Egger's test t = 0.282 (>0.05)



4. CRP

Funnel plot with pseudo 95% confidence limits

Egger's test t = 0.144 (>0.05)

. total testosterone

Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.417 (>0.05)



6. FBG

Funnel plot with pseudo 95% confidence limits

Egger's test t = 0.613 (>0.05)

7. F-INS
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Funnel plot with pseudo 95% confidence limits
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Egger's test t = 0.108 (>0.05)




